Circuits 4
1.
Three resistors, 50-, 100-, 200-, are connected in series in a circuit.  What is the equivalent resistance of this combination of resistors? 

A)
350    B)  250    C)  200    D)  120    E)  29 

Use the following to answer questions 2-4:
Three resistors are connected as shown in. The potential difference between points A and B is 26 V.
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2.
What is the equivalent resistance between the points A and B? 

A)
3.8    B)  4.3    C)  5.1    D)  6.8    E)  9.0 

3.
How much current flows through the 3- resistor? 

A)
2.0 A    B)  4.0 A    C)  6.0 A    D)  8.7 A    E)  10.0 A 

4.
How much current flows through the 2- resistor? 

A)
2.0 A    B)  4.0 A    C)  6.0 A    D)  8.7 A    E)  10.0 A 
Use the following to answer questions 5-7:
Four resistors and a 6-V battery are arranged as shown in the circuit diagram.
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5.
Determine the equivalent resistance in  this circuit. 

A)
50    B)  120    C)  29    D)  5    E)  12 

6.
The smallest current passes through which resistor(s)? 

A)
the 10- resistor 

B)
the 20- resistor 

C)
the 30- resistor

D)
the 60- resistor 

E)
It is the same and the smallest in the 30- and 60- resistors. 

7.
The largest potential difference is across which resistor(s)? 

A)
the 10- resistor 

B)
the 20- resistor 

C)
the 30- resistor

D)
the 60- resistor 

E)
It is the same and the largest for the 30- and 60- resistors. 
8. 
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In this circuit, the voltage dropped across the 5- resistor is approximately 

A)
5 V    B)  20 V    C)  50 V    D)  40 V    E)  100 V 
Questions 9‑10
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The batteries in each of the circuits shown  above are identical and the wires have negligible resistance.

9. In which circuit is the current furnished by the battery the greatest?

(A)
(B)
(C)
(D)
(E)
10. In which circuit is the equivalent resistance connected to the battery the greatest?

(A)
(B)
(C)
(D)
(E)
